EERLAR—F KECAMBEIIRIEZEREZEZFEERKE

S7E3IA28~30H

1FEEBFEANR EREFNERBLE
ROUND2-G1

JIEASE 4 i )& ¥ 4 Total
1Pk BEX TR I TNV T T 23. 60
2 | KFE B Ve IR ¥ 23. 50
3 |HR & HUERIF TN Ty 23. 40
4 PREF DR AU T 22. 80
5 |BF &l REAS IR TN T 7 22. 60
6 |IHE &ER SR TNV Ty 22. 00
7 g — I B3, [ =— AR 21.90
8 |'mi EH TS B J— X T — 21. 60
ROUND2-G2
= 4 i BT & Y4 Total
IO VAIVAI T EEpsils =X T — 24. 40
2 |FKIE K TG IR e 23. 40
3 N EE NS =—/RA R 23. 20
4 KPR RE PRZR) ] IR =—/RA R 23. 00
5 (1A B fi] | 11 I =—/3A R 22. 60
6 |[EH i IIEEp- TUE 22. 40
7O (HT EE A ] S e 22. 10
8 | k& e I =—/3A R 20. 70




fERLR—k

RECARF I EEEFAEZEFERRKR

SH7E3A28~30H

1EAEBFEANF ERELEAFTE
ROUND2-G3
NEAE 4 Hi g ¥4 Total
1 sk EH T IR TN T T 24. 80
2 PIg  fE—=F L I =—/8A R 24. 50
3 (bR BK HUARIE TN T 7 24. 40
4 |R KE TS I Hrrvvay 23.90
5 |l Ei g R I A 23. 00
6 |EFfE A S IR TN T T 22. 60
7B K ppsils =—/3A R 21. 90
8 [t i I NN T T 21. 50
ROUND2-G4

NIEAT 4 Hi & ¥4 Total
1 |& X THES Tt 24. 60
2 &F K KBIF ==/ R 23. 80
3 |BfE mHE i i) e == R 23. 50
4 |tk Sk IREI =R 23.10
5 |FrEF wEik P21 Bk T 22. 80
6 |fH K T ARSL Tz 22.10
7[RI iR JeiiE =—/RA R 21. 90
8 |HAR —% Fragk L I TNV T T 21. 10




EERLAR—F KECAMBEIIRIEZEREZEZFEERKE

S7E3IA28~30H

1FEEBFEANR EREFNERBLE
ROUND2-G5

JIEASE 4 i )& ¥ 4 Total
1R R R IRE TNV T T 24. 80
2 |EE 2 OB A 24. 20
3 |ME W dbifiE T 23. 50
4 | =k RE ST IR = A 23. 50
5 |FERE EAY R J—vx T — 23. 40
6 |[ME K= TN TN T 7 22. 40
7| RIS g R WL =—/3A R 22. 40
8 |[IuA FHis B E I TN T T 21. 30
ROUND2-G6
= 4 i & ¥4 Total
O VAN E R i ] Bk TN Ty 24. 20
2 |HE BzIr R R TNV T T 24. 00
3 &1 #iK FHZR) ] IR == R 23. 90
4 |EEA BEEA KRIRIF =—/RA R 23. 80
5 [fE)II Jth TN TN Ty 22. 90
6 |JEE B LAY B =R 22.70
7 |fEJE EUKER T IR == R 22. 60
8 |EFiR K5 REACIR =—/3A R 21. 70




fERLR—k

RECARF I EEEFAEZEFERRKR

SH7E3A28~30H
1EAEBFEANF ERELEAFTE
ROUND2-G7
NEAE 4 Hi g ¥4 Total
1 |B4A+F & Nl TN T 7 25. 60
2 [ra A =gz B vay 25. 40
3 [ BRAE —ER =—/3A R 24. 70
4 [HEE PR T IR e 24.10
5 |ZFRT K KERIEF TN T T 23. 40
6 |RA EHE LB ==K 23. 30
T OIKE R A7) 1 B e 22.90
8 | Fragk L i NN T T 22.70
ROUND2-G8

gz 4 Hi & ¥4 Total
1 PKHE RiE P2 1 Bk =—/A R 24. 60
2 |HhEF A RN NN T T 24. 40
3 ki Bl T IR TN T T 24. 40
4 |EBERE B TR N7 ay 24. 30
5 |FnH fHE gl == AR 23. 30
6 I &K JE I Ik == R 23. 00
7T PEE EE T IR == R 23. 00
8 'R 1K HUHR IS =—/8A R 22.10




